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Ouob:=yv-1eCODOOO0O0OOO.

[1] V = {asz® + a0a® + a1 + ag ; ag, a1,a0,03 € CY OO 0300000000000 0
000bOo0o000oDO,0d0b0boo0ooooooo,Cooobooooooooa.
0000,00000000 fi(z), fo(z), fs(z), fu(z)000000,0000000
ogo,00o0ooooog.

(1) file) =2 +ia?, fo(x) =2° =1, fa(x) =2 -, fu(r)=izv+1.
(2) filz) =2 =222 —ax+2, folx) =2® —Te+6, f3(x) =a®+ 22* -5z —6,
fa(z) =2®+ 32 —x — 3.

V:{f:R—>R;DD}D ROODODODOOOOOoooobobobboboo,00d
gogooobooobobboooo,RODbDbDObOOOOOO0O0. UUUOU,000OO
gooooooobobobbbooood.

(1) fi(x) =cosz, fo(x) = cos 2z, f3(x) = cos3z.
(2) filz) =e7", fo(x) =1(O0000), fs(z)=e", falz) =e*.

3] n0n>2000000,V0dmV>n00CO0000000000.
(1) z,...,2, €VO000.00,2,#0000,002<k<n0000000 k0O
000,%,0,...,m,00000000000000,2,,...,2,0000000
oooooo.
(2) VOO 2,...,2,0, 00000000000n»-100000000000
00000000, a,...,2, 0000000000000, 00000 VOOO
z,...,1, € VOOD,n>20000000200000000000. 0000,
n—10000000000000,»,000000000000000.



